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‘as far as pract!cable

| GROUP - A -
( Multiple Choice Type Questions ) )

Choose the correct alternatlves for any ten of the

following : ' J ' 10xl-10
)

i)

A message bit is ‘010101, We are using even parity
generator -So the parity bit added to the message bit is

a o  f b) 1
c) »0&1 ’} , ‘Hd) noneofthese.

What is the decimal equivalent code for the followmg
canonical ? -

P(XYZ) (X+Y+Z)(X+Y +Z) (X+Y+Z)(X +Y+2")
(X +Y' +Z ) _

Y »
a) ml-+m2+m3+‘m4 by my+my, + my + Mg
c) my+mg+my+ My -d) none of these.
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iii)

iv)

vi)
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v)

If (128);, = (1003),, the possible base bis

) 38 . b 4
0 5 4 e

The logical expression y =Xm (0, 3, 6, 7, 10, 12, 15 ) is
equivalent to '

a y=1IM(0,3,6 7.10,12,15) »

b) [IM(1,2.4,5,8,09,11,13, 14)
¢ m(1,2,4,58,9,11,13, 14)

d y=Xm(0 3,6, 7,10,12,15),

‘,Th,e Sop form of logical expression is most suitable for
designing logic circuits using only -

- a) _XOR’gates | v b) AND gates
c) NAND gates : d) NOR gates.

vit)

Which of the following flip-flops is used as latch ?

a)  JK flip-flop b)) Dﬂip4ﬂ6p

© RS flip-flop ~d)  Tflip-fiop.

The fraction 0-68,, is equal :té /

a 001010, - b o0y

) 0-10101, . d) 010111,
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viii) ‘The reéoltiuoh‘tjf'a 12-bit D/A converter using a binary

ix)

‘. X)

laddét:Wiih + 10V as the full scale oufput will be
a 244mV b 350mv
¢ 432mv @ 5l2mv. ¢

The lnivt'i‘al‘state of MOD 16 down counter is 0110. The
state after 37 clock pulse will be

a) 0000 b) 0110

© o101 . 4 ooo1.

In a D type latch Enable i/p is HIGH, D = 1. The o/p
will be S \ R

a0 o1
c), don'f care | d) Ik blocked.

xi) The frequency of the pulse at point A is

100 kHz clock ————— : ~ — A
10 bitring | MOD 20 : "= | 4 bit parallel
counter ‘ rip’ple counter | counter -
o _ - /
‘a) 10kHz b)) 3125Hz
¢ B0Hz . d 5kHz
4053 3 | " [ Turn over
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xii) cf

% w—

The value of F is

a) AXORB

b) AXNORC

¢) -AXORC

»

d) BXNORC.

'Largest negative number that can be répré;Sented by 8- -

bit word léngth in2's complement system is

D -oss b =128
.c) ->-~127' @ -256.
- xiv) ,The/log‘ic fémlly that. gﬁes fastést sw;tching is
a) CMOS | | ~ b ECL
" ¢)  Schottky TTL d)  DTL.
465‘3 4
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GROUP - B .
~ (Short Answer Type Questions ) ,
Answer any three of the following. 3 x5 = 15

, : 2. Draw a BCD adder circuit- to add two BCD fiumbers
maximum ﬁp t0 9. The output of this adder should also be in

BCD.
3. Des.igfx a full subtractor circuit ﬁsing multiplexer.
4, : constlfuct a»2‘-bit"'cox;1parator using qr)xly decoder. .
5 a) Defme the following terms reia_téd ﬁm digital IC :
‘i)' Noise margin -
ﬂ) Prqpagaflon &elay
: ‘m) Fan-in & Fan-ouf.

'b)  Write down the characteristic equation of JK &

D Flip-flops. - Lo - 3+2

6. What is the main difference between a latch and a
- flip-flop ?
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b)

b)

b)

c)
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GROUP - C
- (Long Answer Type Questions )
- Answer any three of the following. 3 x 15 = 45

Write down the differences betWeencombinatioxiél logic
circuit & sequential logic circuit.

- Design a MOD 14 asynchronous UP/ DOWN counter

with JK flip-flop. V ‘3+12

»With the help of necessary circuit diagram explain the

operation Ramp type ADC.

A 6-bit R-2R ladder type DAC h:;s reference voltage of

65 V.

Find .:
0 E résolut_ion in % & volt
ii)  the full scale voltage

ii)  the o/p for thel/p 011100. 10+2+1+2

~ Discuss the totem pole output configuration of TTL logic
7famﬂy. '

Design a ‘combinational circuit that accepts a BCD as
i/p and generates XS3 as an.o/p using ROM.

Design & explain the opefatidn of a 4-bit universal
register. - o , - 5+5+5



o

10.

11.

, ¢)
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Write down the excitation table of JK and D flip-flops

a)
and derive the excitation equatioxi for these two flip-
flops. |
b) Design a full subtractor using full adder module and
~ NOT gates. |
c) Design a full subtractor uSmg 4 to 1 MUX. 6+3+6
Write short notes on any three of the foﬂowing : 3x5
a) Prloj'ity encoder
b)  Even parity generator and checker
PLD
d) Johnson counter
e} Parallel in-Seria_i out ( PISO ) shift register.
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